Aere Sl dilolydeall dyyiidl dyggadl

02 dsblall eibgsls dilogll dyall 8yl59
olil @ wwlaly goly | 5 Llgt¥l dy¥el duyysll dupyae
oLily soly5ll @swlall gl © 5 2018 5o 895 = 593l @alesdl LysLSd 3 plonia)
BSbIl eral] Ao |l i® pole ! doe il

caaaig wlelaw 30 aadl alob,lf Bale A jLas)
oIl e gmingdf asl Lt of sl Lo
Jo¥! gl

blas 04 JoXI cpamas]

02,211 pla¥ Jeatghes oS4 9 2.1.1.0 pla,¥ fod sliny oS 4 Lo juiS soit
c oSl o @S 3 sy of B Lidlgdie s
_g_umd.s.q_u ¥ sae o (1
L ole Jomad! Jlois! cousi (2
ool oS o il S G -
C Al gl Jod S S -0
o e dalisw Lgold,l S & -
1 @Byl o Sl dygonsalf Sl sae Ao S Gy s3I X Slgdenll paall o< (3
X Hlgdenll il Jloist pgild e -
- bl Jo¥) sl o
- oleall Gy ¥y bl o] -

Lolas 04 il opapmesll
(22 +3)(2° =62+ 21)= 040N 7 Jogdl als dslall C LSl0 slac¥] dcgane b J> (L
SID 5 CiB A tiaan (07U3V) oy saleilf lall Jf caill oS, goianll § pini (2
Zp=2Z¢ ., 2c=3+2iV3 ; zg=-V3i; 2, =310 ‘sl jle Lgasly
o llay 7)) = 3 das>Wi al Q LaySyo il (€) 830801 guds I peais D g C ;B A Ll ol o -
Laydad caas
L0 el el Aty D ddaaidl spdas B dladdl oS (3
 BEC el dspds gasia) 2 (Zo—25)=€ °(2e—25): of ot -
 adgly peens wllay . C dbaaidl I E ddaai)l Jod o B dadill 03,0 R oo gy il oo~
s 2 AasMI ols M dladill z dasMI ol ddadi g G 531 S Sadill Jueill aes (4
z'+i\/§:2e_'5(z+i\/§)
byl opsolic g § Aoy (e -
i 3o 0t 7 = 3+ 2V3 €™ 3a% g 7 dasMl ol M aaidl dcgana (E) dzpnb e -o
 dpwaigdl bpolicg S Jugmidly (E) 3j9m0 (E') dapds e -

4 yo 1 dsnisg,
3as.ency-eélucahon.com



Ll 05 il o yell
u.= Uﬁ
t Yl T 2Un -1

Daveslal addelly Ug = 4 Jo¥I Loas N L ddye o dpac dlliso (U,) e

f(x)= P ol LeS [Loo] e ddpaliafiadt £ (1

(07777 salzio mles I cgsill goiasdl $ Y = X dbslell g3 @udsandl (A) 5 Siledl Lgliié(Cr) oS o
Joolgdll jomo e Jio & dala¥l dbyg Lo JS il gy acl -]
(sl bglas Loanga Lgsbaws 490 ) Uz, Uy, Uy, Uy 2953
 Lgylasg (U, ) ddlisll s ol Jo> Livad o -
.u>1 n Mauﬁ&iwmiyiﬂb&mﬁ -C
v, = In(l—i] fob LeS N Le dayeti(v,) ddlall paes (2
u, -

Jo¥ Loag Lgwbawl eres clbay dvwsis ddlize (V,) of ou -

0

Coylasll g patll ol Jo> clive® dovin yo a5 U, = - ol pinw 6. n A% v, wasi -

blas 07 gl oyl
9(X)=2—x+eX b leS R e déyetl @ ANt ST Jo ¥ eid !

gl Joas JS0b & 0 DIl wilpeis sl -1

O(X)> 000 gl X pads sae IS ol o af iz -2
Cf(X)=x+(x-1)e” olileS R Lo dspety T oatia o it gt/
. HT H — 2Cm Basgll .(o;T;])wul_?.ug soleio @loa Jf cigsill seiall b Lol Lgliiz (C,)

by il s, M F () lim f(X) asf -1
L 100 ,lgs (C) el cylia Y =X dlslell g3 (A) mudsasd! of ow -
(A) pardiasdt I Ay (Cf ) il dueing ol -
f/(X)=e7.0(X) 1ol X Sard> e JS ol oo aif gy -2
gl Joor S 2. T s ol i) -
 Lgllas] preed clbay @ blass] dadsi Judy (C ) il of o~
L bllaei¥l i aie(Cy ) piniald (T) puboweld dlsles cuasi -
0,30<0<0,40 to> o Lgaluold buy>g dbadi b Juolodll jomo ghady (C; ) Gl of o -
(C)) ity (&) , (T) i -3
X= T (X)= /(%) =17 1 s xgaran sae US Sl g adf el -4
aaldl prasdindl g (A) madiadl g, (C ) pimidly 2331 S, soill jusld doliss cosusi -

X1 ggungdl gl 4 o 2 di . =14 X=a Lealilslsso
Sl emaslloetl 34s.encyreédtication.com 7



P! gungdl

blas 04 : JoX cpmas]
.&JL“_\AQM U3 9U2, Ul Luad

g glmas ol S 4 9 (y9l e (35S g.LL UZ ég.\.“_\a.” &59':'5: g slmas ol ,S 3 9 sl ol S 4 g.Lc Ulég.\.“_\a.” &59':'5:
flmas oS 3 g prglra> 968 ole Uggoaiall sois

Bty 8yS Lolgdie guslinall asl o cosens

e angll 0 Fieds il w¥lers¥l by il (1

U, Gosinall (o glhins 8,8 comw Jlais) gale (2

flmas 5,8 s Jlods] cossi (3

§ U, Ggainadl o Lgil Jloin] o Lo glisas dugoadl 6,501 of Lole (4

Bla; 05 © LI ¢y

lgstas¥ il Cg B, A kit jaes , (O7U,V) uilniey soleio mlea ) il oS, gotall
eyl e Z20=Z5 , Zg=1+W3 | z,=2
. C9 B, Akae suij-1.1

. OBC alilf dels prain] . ¥l ST Lo i—i 9Z¢ . Zg o0 JS waSh .o
. #2098 OBAC el o5 of el -2
(V) degadt il e |2] = |2 = 2] s ol o M(Z) baiidl deganna () oSt -3
Z aasW ool M7 dbaid, Z#2zZ, dos Z dasW o M odbay JS, §épn obas Jued f-I
- Z'=_—4:¢._..>
z-2
z =z a:UC sys-i 1

- f dieill ddauley €\ B pudadill oo geiiiwl o
2|7
=
o;Sye guws wlhy(C) 8yl pows M7 dkaid gl , (Y)dcoedl M dbaill powé Losic ail oo .3
 (C) 55153 ooyl | Laydad Canig
Llas 04 : el oyesll

3

2ol cuil.2

7' -2|=

C(~L4-1), B(L-21), A(~22—1) Laaull yuss. (O;F;T;E’) puilnilly saleill @lell Il Cigauio slunsdll

Liginso o235 C,B A naidl o pu -1
a4l dboles muitu] . (ABC) gpimoll sobl glaih N(2—L-5) of 3a3 -
L 2X=Y+2-3=0 iyl ddslell g3 (P) geimdf oS0 -2
. ylasleio (ABC)g (P) oigisadl of oy (1
. (ABC) g (P) pgimssdl gholas (A) mudiswed] Loy Sid gl (o
4 4o 3 dbo
3as.ency-education.com



d(F;(A)) ezl & (P)g (ABC) pugisssll oo SS9 F(L—2;0) ddaiidl ey dblasall cosss (o
d(M;(P))=v5xd(M;(ABC)) : tus slunill o M daiill dcgans (E ) e -3

blas 07 gl o pesd!

g(x)=1-x+In(2x) Lo e [L oo e dboli G aliadl o Sai s o3 ity

gl Joas> JSb &0 0 Aol s puyel (1
14IN(20) =0 - i g . @ty S [1i+00[ YLt b s 9(X) =0 anatets of o (2

Uy =1+ I0(20,) 01 et sie gs o oy Up =1 1y dayety (Uy) alasty <1 (3
h(x)=1+|n(2x) A1t Sisio (Cy) o (o;T;])u,,_sl_?._:_og soleio mles I cisill setall b

X IN X a1 Al Gl Jibastl M o (G, ) il slus] dudsS oy -
Uy g Uy, Uy, Ul sgad Juolgall jgme Jubs ole Jio (Cp) primnill Jlosiawl o
-:]'Sun<un+1SB ul—‘* n u-'-‘-‘-’a-’uJSJ"JQ-"“-“&"')-‘Jbu-‘”)-' e
- Lgialgs e . gyt (Up) Elisls s o) gaita] -

CF()=(X=1)e7 b tes [Li+ o0 [ e gyl T astan psay 1 itsly 34/

T | = 20m aassh (057 ) uilios salaio elas I cogmill goiandl b Gilerdl Lgliis (C, ) oSly

.F(X):J.f(t)dt g XZlg_Z_:_Z_».»A_cJSJ.qu.o -1
1

L oo [ U e sagliie Foaniad of g & F(X)20: g6 x21US fol o il g -2
 F(x)=1-xe"* Lols X 21 aas sae JS Sl o aif el Afjnally ALolS1 Jlosialy -3

1
1+In(2x) =x :u,mubsls:F(XFE aslell ol oo -4

9 Juolgdll yomag, (C; ) imidly 3ot soissall g2 S ansi | 1 by of oo ST pdad> sae A -5
S, =2.em? geis Assslipe. X=4 g X=1 Laslidslas oilll yeosdiwll

A goanslf g

4 40l dsin

3as.ency-education.com



Dby @]

L LN ggudgdl = 2l ) eIl pols

. h‘-.ﬁ.l.”g fq..\.vzm

3as.ency-education.com





